
Wallisの公式

Theorem. Wallisの公式
lim
n→∞

2 · 2
1 · 3

· 4 · 4
3 · 5

· · · 2n · 2n
(2n− 1)(2n+ 1)

=
π

2

が成り立つ.

Proof. 定積分 In を
In =

∫ π
2

0

sinn x dx (n = 0, 1, 2, . . .)

とする.このとき, I0 =
π

2
, I1 = 1である.また, n ≥ 2のとき

In =

∫ π
2

0

sin2 x · sinn−2 x dx

=

∫ π
2

0

(1− cos2 x) sinn−2 x dx

= In−2 +

∫ π
2

0

(− cosx) · cosx sinn−2 x dx

= In−2 +

[
− cosx · 1

n− 1
sinn−1 x

]π
2

0

− 1

n− 1

∫ π
2

0

sinn x dx

= In−2 −
1

n− 1
In

より, In =
n− 1

n
In となる.よって

I2n =
2n− 1

2n
· 2n− 3

2n− 2
· · · 3

4
· 1
2
· π
2

I2n+1 =
2n

2n+ 1
· 2n− 2

2n− 1
· · · 4

5
· 2
3
· 1

ここから
π

2
· I2n+1

I2n
=

2 · 2
1 · 3

· 4 · 4
3 · 5

· · · 2n · 2n
(2n− 1)(2n+ 1)

が得られる.

ここで, 0 ≤ x ≤ π

2
のとき, 0 ≤ sin2n+1 x ≤ sin2n x ≤ sin2n−1 xが成り立つから, 0 ≤ I2n+1 ≤ I2n ≤

I2n−1 となるから
1 ≤ I2n

I2n+1
≤ I2n−1

I2n+1
=

2n+ 1

2n

となるから
lim
n→∞

I2n
I2n+1

= 1

となり
lim
n→∞

2 · 2
1 · 3

· 4 · 4
3 · 5

· · · 2n · 2n
(2n− 1)(2n+ 1)

=
π

2

が得られる. ■
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